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ty%e question as A, B, C and D. The choice, which you think, is correct; fill that circle in

Note:= You have four chonc
front of that que Us arker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

question.

otherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed
(D) (C). (B) (A) QUESTIONS Q-1
Apif| ArF | Air A e AU AL s |

Troposphere | Thermosphere | Stratosphere | Mesosphere | just above the Earth’s Surface is .
e b $S AL |
Temporary hardness is because of
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MgSO, MgCO; CaCO; Ca(HC%o

Bromine Fluotitie Chlorine Toditie Which one of the following gas is used to destroy
harmful bacteria in water?
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Crude oil is heated i dacg upto
AGAINA0Q P
) . &KCM ,éfe.u PCls < ClsIPCl; | .5
ol gm \‘ \I:br reat;don between PCl; and Cl; to form PCl;s the
units of K, are.
by n P2 2=
H,PO, | ke ECHPO] | 6
\l[N \1J\ The conjugate acid of HPO, ™ is
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General formula of alkyl radical is.

CnHZn CnH2n+1 CnHZn—Z CnH2n+2
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CO, H, \/ CO, CO and CH, | Coal gas is mixture of .

CO, H; and CO, CHy4 CO, CH4 and

C02 and Hg COz i
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A hydro carbon has K)’U/U:’/b/row//g,l
CoHyy CoHa CoHie CoHig molecular formula of CgH 4. What is the molecular

formula of,;}ae’ﬁgxt meniben e homologous series
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itami V\t{an@n x ight bli dness is because of deficiency of

Vitamin D Vitamin C Vltamm
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NININE S Percentage amount of Argon in Air.
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NO; gas SO, gas CO, gas SO; gas Normally rain water is weakly acidic because of
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